Calculus Test 2 Prep

** Review for Quiz 5 **

Find the derivatives:
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36. vy =

37. y=x2sinx +7x -1

38.y = (tan 1)t + 1 13. f(6) = cos(6?)
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16. f(7) = tsin 7t 36. y=xsm;

23, y =
24. y = sin3(\x)

59. Find all points on the graph of the function
f(x) = 2sin x + sin’x at which the tangent line is horizontal.



53. (a) The curve y = 1/(1 + x*) is called a witch of Maria
Agnesi. Find an equation of the tangent line to this
curve at the point (— 1, ;j)
(b) Illustrate part (a) by graphing the curve and the tangent
line on the same screen. skip b

69. Suppose that f(5) = 1, f'(5) = 6, g(5) = —3, and
g'(5) = 2. Find the following values.
@) (f9)'(5) (®) (f/9)'(5) ) (g/f)'(5)

25. (a) Find an equation of the tangent line to the curve
y = 2x sin x at the point (7/2, 7).
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59. Find all points on the graph of the function
f(x) = 2sin x + sins at which the tangent line is horizontal.
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